First and Last Name _____________________						Circle: 6A   6B

Independent Clauses (IC) vs Dependent Clauses(DC)

**Directions: Please go to Schoology. Please go to Chamoun’s English folder. Please go to the Grammar folder. Then, watch the video titled, “Clauses and Sentence Types.” Please watch VERY carefully and complete this worksheet AFTER watching the video!

1. What is an independent clause?


2. What is a dependent clause?


3. What is a subject?


4. What is a predicate?



Please determine if the clause is independent OR dependent. You can write “IC” or “DC.” Then, explain why.

1. I ate cake.
______________________________________________________________________________________________________________________________________________________________________________________
2. While the pirate ate the cake.
______________________________________________________________________________________________________________________________________________________________________________________
3. Because the pirate-zombie doesn’t want to.
______________________________________________________________________________________________________________________________________________________________________________________
4. The zombie went to the bookstore.
______________________________________________________________________________________________________________________________________________________________________________________
5. The leprechaun found a pot of gold.
______________________________________________________________________________________________________________________________________________________________________________________

[bookmark: _GoBack]
Please label the independent clause and dependent clause in each sentence. An example is provided for you. 
IC
DC

While the pirate at the cake, he also watched TV. 

1. The leprechaun found a pot of gold, and then he spent the money on candy.


2. Because the pirate-zombie doesn’t want to go to dinner, he made himself a steak instead.


3. After the movie, the zombie went to lunch.
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